Co. 1 2% Jo- Ve —addazay1

adda Eﬂﬁmﬂ # gt & Hwer-4 —_— S
No. of pages in Booklet -24 S |§ g
gRe®T A Tl B w=a1-100 PN d5
No. of Questions in Booklet -100 S T - 8 1 “~J %i
Subject Code — QA IE{: s

s 390/ SUBIECT : G.K. B S § :

{9 2.00 goe
Time: 2.00 Hours

AfFHTT b : 200
Maximum Marks: 200

WA GRABT 1@ SR yFs @ dox et /diferelE i @ @ w qenell 78 Yhfaa v @ 5 Swd yE-13 gRaw ® 98 v
R e e ¥ S SR vAw W oaifd 1 gt B P @ o Dere @ g wE-s un @ o | T T v R i) sl
@1 gl |

The candidate should ensure that Question Paper Booklet No. of the Question Paper Booklet and Answer Sheet must be same after opening
the Paper Seal/ polythene bag. In case they are different, a candidate must obtain another Question Paper from the Invigilator, Candidate

himself shall be responsible for ensuring this.

e & fou Ay INSTRUCTIONS FOR CANDIDATES
1. Answer all questions.
1. O 9 © S e | 2. All questions carry cqual marks. : )
2 9 oxl o L et ool i S B
3. WP WA B Fa A W @ | : 45 wrong answer. ‘ '
4 U A o ST A A < 9w P 9O B T A 5. Each question has four altermative responses marked
ST | serially as 1, 2, 3, 4. You have to darken only one circle
5 YIS W¥ @ OR defeas S RY 1Y & R Buek 1 2, 3, or bubble indicating the correct answer on the Answer
4 a'ﬁ.m ﬁ,—{n T ‘a‘l mgﬁ zﬁ’r e IOV ﬁﬁ-@ zh—\ra §-Q Y Sheet using BLUE BALL POINT PEN.
P e T ; 6. The OMR Answer Sheet is kept with this Test Booklet,
N U i Sl T IR R A dfer @ge When you are directed to open the Test Booklet, take out
T A TR ]
2l the Answer Sheet and fill in the particulars carefully with
6. OMR S w= g@ wfen gReer & oy 3@ 8] o9 a9 blue ball point pen only. Please fill the Question Paper
e gRa®T WieH &7 HE o, |1 99 09 e B e Booklet no. on the OMR Answer Sheet carcfully,
e ifer @ freRor i S 7. 1/3 part of the mark(s) of each question will be
bl At dfer . o 9 : w1 OM_R R deducted for each wrong answer. (A wrong answer
W93 m e mﬁ"ﬁﬁ_’ﬂl means an incorrect answer or more than one answers for
7. UG T SR B AT U 3 BT 1/3 WA Brer ww| any question. Leaving all the relevant circles or bubbles
T SR W drewd g SR edr Ry B ve @ of any question blank will not be considered as wrong
RS IER A 2| N yem @ e e v srErd answer.)
BleAT Terd St 8. Maobile Phone or any other electronic gadget in the
¥ i ! : examination hall is strictly prohibited. A cmdi%m: found
8. el I aryar gorastfin der wlie St /i qofoe Wit bt ; 21 with hir i
v of such objectionable material with him/her will
aftfa &) afy Rt sparefl 3 o R wrg affa qrrh | Fecd) be strictly dealt as per rules.
2 i 99 v aminT gRT PrEeaR s @ oe) 9. | Please correctly fill your Roll Number in O.M.R. Sheet.
9. THUAT YA e TR 3N THIN. GHF UL HEY o7 | 5 Marks can be deducted for filling wrong or incomplete
T HOFT ST et T A W 5 3 [ WAiHT H A e RoMFIRUITIOEr. ;
S wH & *‘ 10. Ifthere is any sort of ambiguity/mistake either of printing
: or factual nature then out of Hindi and English Version
10. ;g ﬁ; !H'T" Bis) i;;laiin qPR ﬁ g guor IIT‘}?I:;:I!T‘“?E TR Bl of the question, the English Version will be treated as
8 v & 2R qen sl wurwy AU EYER standard.
I BT
BT GV B SRl T avd ywHer arar & a7 gve gy Warning : If a candidate is found copying or if any
sRpa e - s || wnauthorized marerial is found in his/her possession, F.LR.
& aif i E? i : L 7 would be lodged against him/her in the Police Station and
TR} a5t wvR g R Ram-grard @ aea 7 ¥
i sV 7 e helshe would liable to be prosecuted. Department may also
et e ﬁﬁm e aropff ‘7’-;’”3“’7 A & arefl R #) debar him/her permanently from all future examinations.
AT Gl | Rafta v waar / )

T e gRGHT Y 79 q@ F @iel o/ qF & T WY |

Do not open this Test Booklet until you are asked to do so.

OA

l1of24




. About which fort Abul Fazal remarks, “It is

situated at such a height that when looked at it
from bottom to top, turban falls off from head.”
(1) Chittorgarh fort ~ (2) Kumbhalgarh fort

(3) Mehrangarh fort ~ (4) Ranthambhore fort

. On 25" March 1948, when Rajasthan Sangh
was created, which one of the following
group of princely states was not part of the
Sangh-

(1) Kota, Bundi, Jhalawar, Shahpura

(2) Dungarpur, Banswara, Pratapgarh, Tonk
(3) Udaipur, Dungarpur, Banswara, Pratapgarh

(4) Kota, Bundi, Kishangarh, Shahpura

. Which Lok Devta died during battle fought by
Akbar against Chittorgarh in the year 1567-68
A.D?

(1) Veer Fattaji

(3) Veer Mallinath ji

(2) Veer Biggaji
(4) Veer Kallaji

. Who founded the ‘Samp Sabha’?
(2) Hardev Joshi
(4) Govind Giri

(1) Motilal Tejawat
(3) Gokul Bhai Bhatt

. Match the following-

Body part Jewellery
A Head 1 Kankati
B Neck Il Rimjhol
C  Waist [II  Hansali
D Legs IV Memand

A B C D

(hH 1 1A% I 11
(2) I 11 I v
3) 1V 1l I I
4y IV 111 | 11

1

3rget Barel A b gt @& anr A feran f6 g
oAl Sars o Reyd 2 6 - 9 SR @1 3R

T@e W R ¥ o g iR ol g 1
(1) fciteTe gif (2) GwTerTe il
(3) WG g (4) RorRiR g
25 HIA, 1948 @I TfSd WA WY H

frforfaa <o Ramal &1 &4 W g
aftafera =&l on?

(1) ®Iel, g, SATeTdars, MEYx

(2) SRR, ITFATST, YIS, TIb

(3) ISP, SIRYR, AArST, YaTrTe

(4) ®rer, g<, fhare, Ay

Jpax P faog fudtsTe mHaT (156768
$9) ® W B A Al aqal € YA 8¢
AR TA?

(1) dR e it (2) 9~ fawmm i
(3) 9 HealFTa St (4) IR ween St
[Y FHT BT I fas a?
(1) Hiitere doTad (2) &veg Sl
(3) T H1E v (4) mfa=
frifeiRaa @1 gafera -

IR BT 3 3T
A Rr [ @uradl
B el T Resta
C W 1] &wefl
D ) [V #¥g

A B ¢ D
M n Y% I 11
() 1 11 I v
(3) IV 1 11 I
4) IV 11 | 11

20f 24



6. Which Rajput ruler was given the highest 6. 3/paR 3 wafea wq (| &)

Mansab Sapth Hajari by Akbar? ASTYCT IE B feam or?
(1) Raja Bharmal (1) TSI AR

(2) Motaraja Udai Singh (2) AR IeafdE

(3) Raja Man Singh (3) ¥ "AERE

(4) Raja Bhagwant Das (4) XTSI 99T =19

7. Who is well known by the name of “Roothi 7. “HSI I D AR W DI g 872

Rani"? (nsae - (2) ¥R
(1) Umade (2) Roopade (3) Fa T (4) ST T
(3) Hansa Bai (4) Jodha Bai
8. Match the following- 8. F=faRad a1 wafera @ifve—
Branch of Founder ISR GRIQE & T DERED
SNt A Rigeret [ < R
sect.
A Singhthal I Saint Ramcharan B ¥ s SER Ll
B Ren Il Saint Hariram Das C @ 1 S RPHeT
C Kherapa I Saint Ramdas D ey v w1 aRarg
D Shahpura IV Saint Dariyav '
A B ¢ D
A B C D (1 11 11 v
(1 |1 M1 [ v ) i v 1 I
2 1 v 1 ! 3)_1 & - v
(3) 1 1l i | = | - 5
4) 1l | v 11

9. Famous Fair of Badshah is organised in 9. @reemg & ufig o YoRA & 5 e

which city of Rajasthan? 4 SrAIforT B 27
(1) Hindaun City (2) Karauli (1) ReEg= 5 (2) BTAT
(3) Beawar (4) Chaksu (3) TR (4) F1HYg,
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10. Match the following--

11.

12.

13.

Book Author
A Hammir Hath [ Chandra Shekhar
B Hammir Il Nayan Chandra
Mahakavya Suri
C Kanhad-de Il Jayanak
Prabandha
D  Prithviraj Vijay [V Padmanabh
A B C D
(y 1 I1 I11 v
2) 1 I 111 v
3) 1 I v I11
4) 1 11 IV I11

Which of the following is not correctly
matched? (Archaeological site - District)

(1) Kalibangan - Churu

(2) Ahar - Udaipur

(3) Ganeshwar - Sikar

(4) Bairath - Jaipur

“A pot which have holes in it and a lamp is
also lit inside it”, is the characteristic of
which dance? |
(1) Garba
(3) Valar

(2) Ghudla
(4) Chari dance

Who among the following was not associated
with Bijoliya Peasant Movement?

(1) Chhaganlal (Chhaganraj) Choupasaniwala
(2) Vijay Singh Pathik

(3) Sita Ram Das

(4) Manikya Lal Verma

11.

12.

13.

lESED SICED

A &R &8 I TR
B &R #werd 11 99 O [
C @res a-uad Il SFd
D YR fawd IV ggEem

A B o D
(N1 11 111 v
@ I I I Y
G 1 I v [

@4 1 Il v [1

frefolRea & & W& wafoa &6 8-
(qRTcTfeaes were—foret)

(1) STefET — F&

(2) 3MES — IAYR

(3) TUTAR — HidT

(4) 918 — SIEAYR

T @i faemar 87
(1) =@t

(3) ATl

(2) g
(4) =R

T ¥ B fASifer fEw s 9
ArRI del o017

(1) BIeATel (BI=RTT) AITAIare

(2) fasra Ry afdre

(3) HITR™ T

(4) wiforey el a4f
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14. In which session, the congress had accepted

15.

16.

17.

18.

to start the freedom struggle in princely
states?

(1) Surat session - 1907
(2) Lucknow session -1916
(3) Lahore session - 1929
(4) Haripura session - 1938

Which Matrimonial relation was the cause of

discontentment between Maharana Rajsingh
of Mewar and Aurangzeb?
(2) Charumati

(4) Gunwati

(1) Roopmati
(3) Bhanumati

Which dynasty of Rajputana took part in the
tripartite struggle for the control over the city
of Kannauj? '
(1) Chauhan

(3) Parmar

(2) Gurjar Pratihar
(4) Gehlot

Who was not a part of Maharana Sangram
Singh’s army in the battle of Khanwa?

(1) Mahmud Lodi

(2) Hasan Khan Mewati

(3) Hakim Khan Sur

(4) Maldeo Rathore

Which one of the following pairs-is not
correctly matched?
(Temple-Place)

(1) Dwarikadhish Temple — —
(2) Sundha Mata Temple -
(3) Aaimata Temple —

Kankroli
Bhinmal
Bilara

(4) Jwala Mata Temple - Talwara

14.

15,

16.

1R

18.

&G A g afdges § T It A
AT T URBT 1 WHR fmar?
(1) ¥R DI 1907

(2) TETS AT 1916

(3) ER AMIT 1929

(4) gRg=T 3rferaer 1938

AGEANT & |y fAae s & dROr
ARSI IR ARG o112

(1) SwuHcl (2) ArEHAT

(3) wgHfa (4) ToTarch

TN W ARER TG T Py g §

RTSTYCTT & fbsr aer & emeal ¥ 9T forar?
(1) e (2) ToR ufoEr
(3) URHR (4) gl

GHdl B g § "eRen GuH Rig @ 4
H DI gnfier T8 or?

(1) F&qg @l

(2) 894 @i Hareh

@) &iftm @i

(4) ATeicd woTs

ferferian # & B9 o ve gm wd gafea
T8 8P

(A e—arry)

(1) gTR®Tefer Aff ey —  @iexrel]

(2) ger #rar Affer — AT

(3) argHTeT AfeR —  faermet

(4) SdTelT HIdT Af*eR — derarsT
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19.

20.

In accordance to Vikram Samvat, arrange
(from beginning to end) the following festivals
in a one calendar year-

A Ganesh Chaturthi

B Dipawali

C Krishna Janmashtami

D Gangaur

(1) D C A B
(2) A B C D
3) C A D B
(4) D A Cc B

Among which of the following Picchavai
painting is famous?

(1) Bikaner (2) Bundi
(3) Nathdwara (4) Jaipur

21. Which among the following has the highest
density of population as per 2011 census?
(1) Lakshadweep
(2) Pondicherry
(3) Dadra and Nagar Haveli
(4) Daman and Diu

22. Birla cement works is located at —
(1) Chittorgarh (2) Kota
(3) Bundi (4) Nimbahera

23. The latitudinal extent of Rajasthan is -
(1) 23° 3' N to SORERNS
(2)23° 3' Nt0o30°12' N
(3)23° 30' Nto 30° 12' N
(4) 23° 3' Nto 30° 2I' N

OA£2

19.

22.

s Hag @ ogER US ad # M ard
fFrefeaa TRl & %7 ¥ (RS 9 3w)
TR

A Trorer TRt

B druraeh

C GO THIEH

D TRIR

(1) D C A B
2 A B e D
(3) C A D B
4 D A C B
. foard REwen wef & ufig 87
(1) drprR (2) g1

(3) FARIGRT (4) STAQR
2011 B TRIOET & AR fr=fafed § 4
T S ae daite 87
(1) SETEy

(2) wife=rdt

(3) STEXT AT AR &dol!
(4) €5 q7 S

fagom di a4 saRerd & —
(1) frcireTe (2) ®rer
3) gar (4) frareen

23. TR P ey favr ' —

(4 23°

(1 233’ 3. 9 30° 12! <
2232 3 T 30° 12' B

() 23° 30* 3. ¥ 30° 12 ©.

3 9 9a0° 21 S
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24. Which of the following districts of Rajasthan

25.

26.

have a common boundary with Gujarat?
I. Sirohi 2

3. Pratapgarh

Dungarpur

4. Banswara

Select the correct answer using the codes
given below —

(1)1,2,3and 4

(2) 1,2 and 3

3)1,2and 4

(4) 1 and 4

Som is a tributary of —
(1) Sabarmati
(3) Banas

(2) Mahi
(4) Luni

The theme of World Enviroment Day - 2018 is

(1) Stop Deforestation

(2) Conserve Mangrove forest
(3) Beating Plastic Pollution
(4) Save Ozone save world

27. Match List — I with List — 11 and select your
answer from the codes given below —
List- 1 List-I1
A Jalmahal Lake I. Alwar
B Pandupol water fall 2. Udaipur
C Lunaksar Lake 3. Jaipur
D  Fatehsagar Lake 4.  Bikaner
Codes: A B C D
(1 3 1 4 2
@) 1 3 4 2
3) 1 3 2 4
(4) 3 4 1 2

0A £

24, f=fafEaa § 9 worem 3 59 e &

AT AT TR 9§ ferdt 82

1. R 2. §IRYR

3. YdgTe 4. drHarst

A Y gY @e &1 SuEn e g W@
IR gy —

()1, 2, 3 T 4

(2) 1, 2 qerm 3

(3)1, 2 T 4

(4) 1 T 4

. 9 Uh HERS 4] 8-

(1) HIEHAT DY
(3) g9 B

@) 7 A
@) o 2

. fava ggfavor fRaw — 2018 &1 (o) ey @

(1) FA=e =R VP

(2) 71T 99 BT GR&m

(3) wRE® UguOT BT IR HRAT
(4) 37 FEmel fava s=ra

A -1 @ g -1 Y g B g

A U T e @ emer swR gfig-
@ -1 @ - 11
A SioHEs e 1. 3ToleR
B UIgUd SEWUR - 2. SR
C JUHER 3N 3. SR
D Wde 9FR a4, doeR
@ A B C D
(1) 3 1 4 2
) 1 3 4 2
(3) 1 3 2 4
(4) 3 4 I 2
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28.

29.

30.

Child sex Ratio (0 — 6 years) of India as per
2011 census is —
(1) 943
(3) 905

(2) 933

4) 919

Which of the following is not a breed of
cattle?

(1) Malvi
(3) Kankrej

(2) Rathi
(4) Bagri

Deflection of wind direction is caused by —
(1) Gravitational (2) Centrifugal force
force

(3) Rotation (4) Temperature

31. Match List — I with List Il and select the
correct answer using the codes given below —
List -1 List-11
A Challenger I North Pacific Ocean
Ridge
B Albatross 2 North Atlantic
Cordillera Ocean
C  Azores island 3 South Atlantic
Ocean
D Kuril island 4 South Pacific Ocean
Codes: A B € D
(1 3 2 4 1
(2) 3 4 2 1
(3) B 3 2 1
(4) 2 4% 3 1
32. Which of the following is NOT an example
of cold winds?
(1) Zonda (2) Bora
(3) Mistral (4) Pampero
OA £

28.

29.

30.

31.

32.

2011 W SEIVAT & AR R FHT arel
fefmruTd &% (0 — 6 ad) & —
(1) 943 (2) 933
(3) 905 (4) 919

frfaRaa & 9§ @19 91 MaY d1 A Tq8)
87

(1) ATerdt (2) <1

(3) Pid (4) arTSl

ugHl @) feem # e e sRer g €,
9| ° —

(1) HcdIHYT del
(3) uRasor

T -1 B G - 11 @ ghfra iR der 9
fy gU @e @ SuAnT YA g AEl IR g

(2) AUBLT q
(4) TTIAE

@ - & - 11
A Yook Hed | I HEid "ERIER
B arcdgrd 2 I Jedifed
HISTRT HETATTY
C TR 3 gféyor redifesd
HETTTR
D dgRa gu 4T geid werITR
He: A B C D
(1 3 2 4 1
(2) 3 4 2 |
(3) 4 3 2 1
(4) 2 4 3 |

frafeiRag 5 ¥ @19 W1 te 38 udd &l
JETERT el &7

(1) Sifer (2) 9T

(3) fawger (4) TRRT
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33.

34.

3S.

36.

OA

The
“Bhamashah
Rajasthan is —
(1)% 2 lacs
(3)X 3 lacs

maximum insurance cover under

Swasthya Bima Yojna” in

(2) 5 lacs
(4) ¥4 lacs

The female literacy rate of rural Rajasthan, as
per 2011 census, is —
(1) 49.6%
(3) 45.8%

(2) 52.1%

4) 41.3%

Which of the following are “National Parks”

of Rajasthan?

A. Mukundra Hills B. Ranthambore

C. Keoladeo Ghana D. National Chambal
Sanctuary

Select the correct answer from the codes

given below —

(1) B, C and D are correct.

(2) A, B and C are correct.

(3) A, B and D are correct.

(4) A, B, C and D are correct.

Hokkaido and Honshu is separated by —
(1) Osumi strait (2) Toyama Bay

(3) Tsugaru strait- (4) Bungo channel

Which region of Rajasthan experience Aw
type of climate as per koeppen’s climatic
classification?

(1) Southern most region

(2) North Eastern region

(3) Western region

(4) Northern most region

L

33.

34,

3s.

36.

3.

ISR ¥ “TTeE wRed € Ao @
siaita iftreas drar afy & —

(HZ2dmg (2)T5 o

3)%3 o™ (4) X4 g

2011 B SIUAT & ATAR IRAE A
UTHIOT ARST HeRar &% & —

(1) 49.6% (2) 52.1%

(3) 45.8% (4) 41.3%

FefolRaa & 9 woremrm @ I S @

A. g1 feed
C. ®delled B

B. ROy
D. {9+ e

T
A foU g0 e 9 wE SR giw —
(1) B, C @ D w81 §1
(2) A, B T C 98 &
(3) A, B @2 D wE €|
(4) A, B, C @1 D 98 €|

BraTEer qur gy Renf B @ —
(D) Sigt SreTeRsa (2) S @) @
B) e STeTsHGHE  (4) 7T gone (A9)

B B STerary aHfaRer & AR Ao
Eﬁﬁﬁﬂmﬁ;&wmaﬁmq@
STl 87

(1) gféyores uger

2) IR — it ww

(3) uf¥eH uaer

(4) STREH U

9of 24



38.

39.

40.

41.

42.

Which of the following mountain range
originated in Hercynian period?

(1) Andes Mountain Range

(2) Aravalli Mountain Range

(3) Scandinavian Mountain Range

(4) Ural Mountain Range

In 2016 — 17 India’s trade deficit (in percent)
was highest with —

(2) Asia

(4) Africa

(1) Europe

(3) America

Which of the following is correctly matched?

River Tributaries
(1) Mahanadi - Hasdo
(2) Krishna - Pranhita
(3) Godavari - Musi
(4) Tapi - Ung
“| think that the policy of ............. alliances

of the cold war has not brought any such
results to the world” — Nehru.

[n his speech, Nehru is pointing towards
which alliance?

(1) Foreign Economic Alliances

(2) Military Alliances

(3) Nuclear Alliances

(4) Cultural Alliances

Who among the following Governors of
Rajasthan has held the office of the member,
Rajasthan Public Service Commission, prior
to becoming Governor?

(1) Sukhdev Prasad

(2) Raghukul Tilak

(3) Professor Devi Prasad Chattopadhyay

(4) Nirmal Chandra Jain

38.

40.

41.

42.

frafoReaa § @ 5w wda ol &1 ST
eI @1 | gan?

(1) UGSt uda Siof

(2) sRTdel udd 2iof

(3) ThfeAfaaTs uda =il

(4) 1l gda i

. 2016 — 17 ¥ fhysd W MRA & ATUR

Hrer (wferera #) waifa or?

(1) R4 (2) ufRRrm

(3) amiRent (4) 3TIHT

fyforfaa ¥ @ @9 w1 wEl gafer 87
T HERD 4l

(1) HBTE] - Eel

(2) G - EIMIES

(3) et - Rl

(4) ardy - Sl

g T A § — A8 |

AT W AT ¥ e fbd ToEuT @1 3R
ST Y & &7

(1) fac=ht anfdfe wTede

(2) AfF® ToauH

(3) TRHEIY] TS

(4) AP TS

IAORAF B [Aeifpd woguell § F B
RIS G99 @ Jd IO ald T 3T
& AW @ 87

(1) gEg JuE

(2) Xgpa fererd

(3) AIPER Y YHIE AT

(4) forfer = SiF
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43. Which of the following statement / 43.
statements is / are correct in context to filing
of the nomination paper in presidential
election of India?

() The nomination paper should be
subscribed by atleast fifty electors as
proposers and atleast fifty electors as
seconders.

(11) A Candidate shall not be deemed to be
duly nominated for the election unless
he deposits or causes to be deposited a
sum of fifteen thousand rupees.

(IIT) A candidate nominated by more than
one nomination paper has to make
only one deposit.

Correct option is —

(HTand I (2) Only 1

(3) Land 111 (4) I, IT and 111

44. E - Secretariat is — 44,
(1) Policy of state government
(2) A project of state government
(3) A new Secretariat
(4) A Software

45. Who among the following has not held the 45,
office of the leader of the House in
Rajyasabha during his ' tenure as Prime
Minister?

(1) Vishwanath Pratap Singh

(2) Dr. Man Mohan Singh

(3) H. D. Deve Gowda

(4) Inder Kumar Gujral

0A L2

WRA & I Fares & for 9m fAdee

UH WA B D FqER B W DR

U el g7

(h =M F<eE 99 R d9—9—a9 yarg
fFafa®l & gwer wemsl & wa
IR P-4 A Mafaer @
BRIER GHfdl & Wy § 8 |

an feAr ep=iefi @1 Pafes & o a9 9@
e U W AW [Affe 98 gmen
SIRAT 514 @ 98 UG8 89R ST &)
iR ffér =& wvar ar wwen 2

() SEt @1 apgefi v ¥ e 9m
fder ual grr A Afde 2, 98 s
A UdH Y B g 2 |

el fAwey 8-

() 19g1] (2) @l |
(3) 1Tqg 111 CONRIRGE|
g — e & -

(1) I WRFBR B T
(2) M5 [RBR P Th YRATSAT

- (3) UH T wfdrer

(4) U HFedRR

fFasifdba # & ®iF, wEER S ug Wy
B XISTHHT W ST B a1 8] W@ 8?

(1) gy yam Rig

(2) €1, #PE g

(3) g, S <girer

(4) 75 BHHAR ORI
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46. Who is the Chief whip of the Government

47.

48.

Party in Loksabha?

(1) Parliamentary Secretary

(2) Minister of Home Affairs

(3) Secretary General of Loksabha

(4) Minister of Parliamentary affairs

Which one the following Authors / Thinkers
of India has opposed the Idea of world
government and proposed a system of twenty
to twenty five regional federations on global
level?

(1) Sri Aurobindo  (2) Jasjit Singh

(3) Rajni Kothari (4) Bharat Karnad

The advice given by the council of Ministers

to the President can be inquired by —

(1) The Supreme Court of India

(2) Inquiry Committee constituted by the
Lok Sabha

(3) Rajya Sabha

(4) The advice does not fall under the

jurisdiction of any inquiry

46. SId T H TSR ol BT G FeAD Bl

47.

48.

Bl &7

(1) wwerg afE

(2) 78 ==

(3) ST T T FEAd
(4) Hagr S HA

frerifea ¥ W frw wRd o / far®
Y fovg WeR & fagr @1 R &= g
e TR W o9 F TG &g T
g9 &1 R ued f&ar?

(1) & sRfa=< (2) Sraeia g

(3) TSIl BB (4) WA PATS

HEuRee g wTuf B & T HaE Bl
Sire @Y S W & —

(1) Gdfea =ararerd grRT

(2) i w1 g ST it afAfa grn
(3) ST [T g

(4) T8 TATE Wi & SRR H 78l AT
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49.

50.

31.

S2.

Match List — I with List — II and Select the
correct answer from code given below —

List -1 List—1I
Chief Minister Governor
(A)  Bhairon Singh (i) Raghukul Tilak
Shekhawat
(B)  Barkatullah (i) Sardar Joginder
Khan Singh
(€©) Mohanlal (i) Dr.
Sukhadia Sampurnanand
(D) Vasundhara (iv) Madanlal
Raje Khurana
Code: (A) (B) (C) (D)
(n (1) (i1) (iii) (iv)
2) (ii) (1) (i) (iv) .
(3) (1) (ii) (iv) (iii)
(4) (ii) (iv) (i) (iii)

Who is Author of the book °*Black Skin,
White Masks’?
(1) Nelson Mandela (2) Frantz Fanon

(3) Samir Amin (4) Martin Luther King

The idea of the office of the Attorney — General
in Indian constitution taken from which
country?

(2) Canada

(4) Australia

(1) Germany
(3) Britain

The Article 40 of the Indian constitution is

related to —

(1) Promotion of Co — operative Societies

(2) Free legal Aid

(3) Panchayati Raj

(4) Environment Conservation (Protection of
Environment)

49. A — 1D g — 11 1 gafera SR iR

I R T we § 9 e SR F 9dA
HIfoTI—

g — 1 g - 1l
HEIHA rogaTel
(A) R Rig d@Ed (i) el e
(B) @Rqdecile WM (ii) GYCR
Sirfrex Rieg
(C) #red el (iii) Sf. FegUriHe
BstelsRl
(D)  THERT A (iv) #ETATed
QR
@ (A)  (B) (©) (D)
(1) (i) (ii) (i)  (iv)
) (i) (i) (i) (v
(3) (i) (ii) (iv) (i)
(4) (i) (iv) () (iii)

50. ‘wiw R@, @®Eec A AW WD DI
AEH B 87
(1) TG 73l (2) ol WA
(3) TR 3= (4) MET qer b
51. MRd & JfuE # #E=gard) & U &l
fa fow <o & foram aram 27
(1) ST (2) HTST
(3) fae= (4) smegforan
52. WA $ GAUH & T 40 P T B
(1) GEar ararafeadt &1 dadH
(2) Fges faferes asma
(3) U=t Sl
(4) GATaROT HREOT
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53.

54.

33.

56.

57.

58.

UNFCCC (United Nations
Convention on Climate Change) entered into

Framework

force from —
(1) 21 March 1994
(3) 12 May 1991

(2) 5 June 1992
(4) 5 June 1993

The term of India as a non — permanent
member of United Nations Security Council
has been — (Till September 2018)

(1) 10 Years (2) 12 Years

(3) 13 Years (4) 14 Years

Who presides the selection committee of

members  of State Human  Rights
Commission?

(1) Chief Minister
(3) Chief Justice of

High Court

(2) Governor
(4) Chief Secretary

Which of the following Authors expressed
concern that the president of India might use
the powers apparently granted him by the
constitution to make himself a dictator?

(1) Penderel Moon
(3) William O. Douglas

(2) Alexendrowicz
(4) Alan Gledhill

Who did not get place as a separate electorate
in the Government of India Act 19357
(1) Muslims (2) Sikhs

(3) Parsees (4) Anglo — Indians

The nuclear non-proliferation treaty was
accepted by the general Assembly of United
Nations in —

(1) September 1965
(3) April 1966

(2) June 1968
(4) August 1967

53.

54.

55.

56.

57.

58.

T W W (e e A
a2 S deligHT Tl) B9 AR §3ATP
(1) 21 514 1994 (2) 5 ST 1992

(3) 12 A3 1991 (4) 5 S 1993

YA g GRaT uRYq B SRR WA &
&Y H ARd BT Gl Srd@Tel @1 € — (Ridar
2018 d®)

(1) 10 99 (2) 12 a9

(3)13 99 (4) 14 a9

I AFGIEIGR RN & Gl & g+
[fAfa & arzerar war 8 —

(1) Je=4A (2) ST
(3) ¥ Iz ATl d (I P =
&1 H& R wfer

fF=ifha & 9 oy o 9 ag R @
B off f5 wRa &1 Igufy GiAvT gRT wew
Sifaedl &l B BN AHINE a9 Hdvd] 27

(1) U=ewet T (2) Gelwimgifa=

(3) faferm an. e (4) Vo TorsfRe

1935 & WRA WaR ARfH d guw
Frat== vfafafe 7 5= wm =8 o
o7

(1) 4t (2) firg

(3) ar (4) Ve gfveas

URHIY] YRR A P YA IS HERAT
gRT WieR fdar T —
(1) Ry 1965

(3) 3 1966

(2) 57T 1968
(4) 3T 1967
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59.

60.

61.

62.

OA

Which one of the following books has not  59.
been written by Dr. B. R. Ambedkar?

(1) We the People

(2) The Problems of the Rupee

(3) Pakistan or the Partition of India

(4) The Buddha and his Dhamma

Which one of the following pair is not  60.

correctly matched?
Leader - Idea

(1) Jaiprakash Narayan — Sampurna Kranti

(2) Deen Dayal Upadhayay — Ekatm
Manavwad

(3) Ram Manohar Lohia — Drain Theory

(4) M. N. Roy — Radical Humanism

Who among the following was a member of  61.
the Sarkaria Commission?

(1) B. Shivaraman  (2) Y.V. Chandrachud

(3) M. M. Punchhi  (4) K. J. Reddy

“Personally, I do not attach any importance  62.

to the label which  may be attached tol it
whether you ¢all it a federal constitution or
unitary constitution or by any other name. It
makes no difference so long as the
constitution serves our Purpose”, who made
this statement?

(2) Vallabh

Patel

(1) Myron Weiner Bhai

(3) Dr. Rajendra Prasad,  (4) Shiva Rao

F=ifdd 4 9 IR a6 & d@s Si .
3R, RSB &l 87

(H) & & qigar

(2) &) vieerra 3ife & o)

(3) urfeham 3k &Y wifder aife gftew
(4) <1 gg1 yvs fae e
fifha # @ @iFar g wd gafea @
2?

qar - fa=me

(1) STEYHIE ARRO]  — FRof HIf

(2) &1 TUTl SURAR — UdIA HIAddIg
(3) 3™ FER difedr — smare Rara
(4) T, . 3™ — T HFIAIE

fFiftha § & BT WRBIRAT AT & TG
@ 87

(1) 4. Rrarer (2) 9r. 9. TEYs
(3) UH. TH. gEl (4) B. o1 YS!
“eIfdTd w9 F H 39 91 B Bls A8
481 oar f& 9 smu wWH EfRwm @
UhrcAs wfae srEr el om A W
UHRA & | PR WU FHR Se¥d Bl G
BT I T A | DI D A6l usdl’, T8
Y faar 8°
(1) R 4R
(3) €f. WSl udrE

(2) goorv 1g Ued
(4) fBrar <@
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63.

64.

65.

66.

67.

OA

Which is the correct group of the chief

secretaries of the present state government

(2013 - 2018)?

(1) Rajiv Mehrishi, Nihal Chand Goyal, C. K.
Mathew.

(2) Rajiv Mehrishi, T. Srinivasan, O. P. Meena

(3) Rajiv Mehrishi, C. S. Rajan, Ashok Jain

(4) Rajiv Mehrishi, C. K. Mathew, Nihal
Chand Goyal

‘123 Agreement’ and ‘Hyde Act’ are related to

(1) India - United States Civil Nuclear Agreement

(2) India - United Kingdom Civil Nuclea:
Agreement

(3) India - France Civil Nuclear Agreement

(4) India — Israel Civil Nuclear Agreement

The members of Gram Sabha are —

(1) All the residents of the village

(2) All the residents of the village who are
registered in the voter list

(3) According to the list given by the state
g()vcmmem

(4) The members nominated by the sarpanch

In April, 2018 under the ‘Village Swaraj
of
Indradhanush
has

Campaign’™ in
‘The' Mission
Campaign’

how many wvillages
Rajasthan
Vaccination been
commissioned?
(1) 499

(3) 599

(2) 199
(4) 1099

Apurvi Chandela and Om Prakash Mitharwal
both are related to —
(1) Shooting (2) Archery

(3) Boxing (4) Sailing

63.

65.

66.

67.

A 15T TIBR (2013 — 2018) H 32 H&=y

wfedl 1 98 wE -

(1) wrofta 78, Fererer= ngd, W, &, fey

(2) 3roitg wefy, &1 shfaras, s a1 A

(3) it #efl, . vH. o, sree S

Hohg 7=, @ & feg, fFEe u=
HIEE

123 guEiiar vd Bss v fhad aafra
2?

() 9Ra — RaT e axwr] wwsivar
(2) wRa — {32 RS Ry wHEiar
(3) ¥Rd — wid sRifE uar] wHsiar

(4) RT — goNIgel JFAfH TTATI] TSI

T FH1 & [ B & —

(D a™ & Wi fFard

(2) HerETar = H g5t u & @l Farh
(3) S FRBR GRT U< I 3R
(4) ¥XUE gRT HAMIG HEw

AT, 2018 DI UTH WRI AT B d&d
ORI & fha wirEl # e gy
SRl I Senfera fsar Tar?

(1) 499 (2) 199

(3) 599 (4) 1099

Al =ier AR 3 yarer ferarer &
{4

(1) fFem=arsh (2) dNar

(3) difagr (4) BT
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68.

69.

70.

71,

72.

73

Scientists received recently 4.7 million years
old marine fossils from which district?
(1) Udaipur (2) Jalore

(3) Sirohi (4) Jaisalmer

Where the state’s first three days ‘Archid
Festival® concludes?
(1) Jaisalmer

(3) Udaipur

(2) Jodhpur

(4) Jhalawar

The Mukundara Hills Tiger Reserve will be
spread in which four districts of the state?
(1) Kota, Bundi, Baran, Tonk

(2) Kota, Bundi, Chittorgarh, Jhalawar

(3) Kota, Baran, Jhalawar, Sawai Madhopur
(4) Kota, Bundi, Baran, Jhalawar

Where will the state’s first ‘Defence Career
Institute’ be opened?
(1) Sikar

(3) Jodhpur

(2) Alwar
(4) Dausa

Where Chief Minister Vasundhara Raje has
inaugurated (17 September, 2018) ‘The
Bhamashah Techno Hub’?

(1) Udaipur (2) Jhunjhunu
(3) Jodhpur (4) Jaipur

Recently in which districts of Rajasthan huge

reservoirs of Potash has been found?

(1)Sri Ganganagar, ' Bikaner,
Jhalawar

Nagaur,

(2) Sri Ganganagar, Hanumangarh, Sikar,

Baran

(3) Bikaner,  Churu,  Sri
Hanumangarh

Ganganagar,

(4) Bikaner, Bundi., Bharatpur, Bhilwara

68

69.

70.

L

72.

73.

It @1 fa el 9 47 RIS 9§ 17
SlaTed §TcT 81 H Ui 8y 87

(1) S<aYx (2) GITEiR
(3) RRIE (4) SR

Yol &1 Ugell o feadiy anfes wikedd
FEl W gTT?

(1) SR (2) SEgR

(3) SEAR (4) ZTaTaTe

ghewl feed e Rod w1 & 69 3R
frell § herm 817

(1) ®reT, 441, 9, eid

(2) ®rer, g2, RriisTe, sramErs

(3) PleT, aRi, SIS, HaTs AR

(4) Biet, g4, ari, SITerars

Y BT ggell oy HRIR §EIege” HEl
HE @lell S?

(1) 3P (2) reTaR

(3) SierqR (4) <ram

FEIHA gYERT I A HHE ST g4 Bl
SqETed (17 fiawR, 2018) Fel fear?

(1) SeUYR () =I5,

(3) SR (4) STAYR

g6l & H oRens @ e e § e @
3 HUSR el 27

(1) 3 TR, SR, AFR, STeare
(2) 211 MR, gHFTE, YR, dRi

(3) NPR, g%, &l TR, TS

(4) TR, g1, YAy, Hlerdrst
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74.

75.

76.

1.

78.

The Geological Survey of India has recently
estimated Gold which two
districts of the state?

reserves in

(1) Udaipur and Banswara
(2) Banswara and Dungarpur
(3) Bhilwara and Chittorgarh
(4) Chittorgarh and Sirohi

Sunder Singh Gurjar is related to which
competition?

(1) Javelin Throw
(3) Archery

(2) Shooting
(4) Wrestling

Which of the following statement regarding

structural changes of India is not correct?

(1) Contribution of Construction Sector is
increasing in Gross National Product.

(2) Contribution of Manufacturing Sector is
increasing in Gross National Product,

(3) Relative  Contribution of Agriculture
Sector is declining in Gross National
Product.

(4) Relative Contribution of Mining and
Quarrying Sector is declining in Gross
National Product.

Due to which of the following factor Gross
National Product is always greater than/Net
National Product?

(1) Income Received  (2) Capital
from Abroad Consumption
Allowance
(3) Indirect Tax (4) Direct Tax

During which five year plan, the national
income growth rate was the lowest?

(1) Second plan (2) Third plan
(3) Ninth plan (4) Eleventh plan
O£

74.

75.

76.

g

78.

IR —dsnfie |deror f@urT 5 woa &
b1 <1 Ryl § W@l WUSR BN @1 AN
grel 81 ¥ g fhar 27
(1) STIYR TAT IRAATST
(2) grarsT ql R
(3) Hicrarer den RireTe
(4) Rrcitee den RRIE

g=x Rig R &1 wawr O ot 9
87

(1) Srafer o (2) frem=aTsit

(3) TPRETai (4) et

e A 9 39 A sue aRd aefargwen

P WEAHS URAGA] & Gee H G A8l

87

(1) gdel U Iareq | fAmior &3 @
ANTETT 9% & # |

(2) Udhal I Iaared # fafemior &5 @
IS 98 & & |

() WPl & SR H OB & @
AUETE drTe ge Er 2|

(4) Hepel AR IaTed H WA d o=+
&1 HUfdre ATEE HE W@l 2|

= o fba oRo A Goa v IareT
gaer fagre i Sauree 9§ aifde e 87
(1) fa=wii & oTe e (2) Yo ST W
(3) eI HY (4) e R

fra deadty gromr & SRE I I @)
gfg e =graq @
(1) f&<ir arsrr
(3) =7dl Tror

(2) el grer
(4) YREET ArofT
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9.

80.

81.

82.

83.

84,

In which of the following, year growth rate
of agriculture sector was negative?
(1)2012-13 (2) 2013-14
(3)2014-15 (4) 2015-16

According to Tendulkar Methodology during
2004-05 to 2011-12 which of the following
state of India has registered highest decline in
the poverty ratio?

(2) Bihar

(4) Jharkhand

(1) Rajasthan
(3) Orissa

Respect and prestige work as a motivation for
the individual. These motives are related to
which of the following category —
(2) Social

(4) Political

(1) Personal

(3) Physiological

The techniques by which we can study an
individual’s personality by observing his/her
style of life, behaviour, manner, thoughts and
feelings is called —
(1) Inventory (2) Case history

(3) Rating scale (4) Projective

Which of the following key process is not
included in the Social Cognitive Theory
(observational learning) of Bandura?

(2) Attentional

(4) Motivational

(1) Experiential
(3) Retentional

Which of the following is the best indicator

of high intelligence?

(I) Scoring 105 on an IQ (Intelligence
Quotient) test

(2) Reciting the address from memory

(3) Not making the same mistakes twice
when given the opportunity to repeat a
task after receiving feedback

(4) Earning high grades.

OA £

79,

80.

81.

82.

83.

84.

=1 4 @ fvw af & ofY &3 & gig e
FUCHE El1?

(1) 2012—13 (2) 2013—14

(3) 2014—15 (4) 2015—16

drgaray fafer & STRIR 2004-05 | 2011—12
& 99 TRa & A Tl § 9 e usy §

fAefar srqura 3§ waifds & g g 87

(1) TSI (2) fagr
(3) ILrar (4) IIRGUS
I 3R ufassT afad & fore oo @)

e d Bvd | A ke A=feiRed # A
fa 9ot 9§ gwafRrg & —

(1) erfaemra (2) |rTTh

(3) IR — I (4) IoHfa®

afdd & Aafdda &1 JLqgT A B 98
Ay RTd gRT SWS! Sildq Siell, @TaER,
AR—adrl, faart sk wa=msl @1 saars
fBar S |oar 8, dEerdl § —

(1) ge=Taeht (2) dufaas e
(3) iRy [+ (4) gergor
FefefaT & & i e ufter gy &
qmfse  deeere g (Edred
arftrr) # afafera =8 87

(1) STParcH® (2) IrauTIHD

(3) aROTTHS (4) FAUROITHE

Frefeifaa & | s Sea gf @1 doa

87

() s gfg @fer gdeor F 105 3fF ura
HAT '

(2) A€ HD YT FATT

) wHF TTefl B W B B gvEE

YSUIYO] &1 IawR Ao W QAR 8
HYAT

(4) S=a ol TG YT HeAT
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86.

87.

88.

89.

. Children who are doing poorly in their school

often criticize their teachers for it. This
adjustment mechanism is called —
(1) Compensation (2) Sublimation

(3) Rationalization (4) Projection

H. Sheldon divided all human beings into
endomorphic, mesomorphic and
ectomorphic  categories  of  physical

dimensions. This theory of personality is
called -

(1) Type theory

(2) Trait theory

(3) Psychoanalytic theory

(4) Phenomenological theory

Which of the following statement is not

correct about the emotions of a child and an

adult?

(1) The child freely expresses his/her
emotions much more than the adult.

(2) The child’s
compared to adult.

emotions are few as

(3) The child behaves emotionally even to a
weak stimulus as compared to adult.

(4) The are changed
quickly as compared to child.

adult’s emotions

Which of the following task is not related to
Torrance tests of creativity measurement?
(1) Unusual uses of common object

(2) Memorize a long poem

(3) Picture construction

(4) Ask and guess

In which of the following stage the rate of
physical development is slowest?
(2) Childhood

(4) Embryonic

(1) Adolescence
(3) Infancy

OA £

85.

86.

871

88.

89.

gt W UE faemer W oaresT SRl 98l
B § URE 39 JAETh] @1 ATATIAT DY
& | gare @ 7e aife dendl & —
(1) &y — gfef (2) T

(3) 3fifaey — <emue (4) yerqor

T, Yeed | Wl el & aRIRE mami
BT TABRI, HRAHR AR Traprg Ay o
frraa fopar 8 afdaa @ g Rigra
Pyl & —

() yey Rigra (R Rigr)

(2) ST g

(3) FeIfaeryor g

(4) geT—fear fasm Rigr

fr=ferRad § | AT $UF 90Td 3R W

D G B AN G HE) 87

(1) aTeTd Uie ¥ e wWies wu § Faul
@I yafdfa @ar & |

(2) aIGF & HIT Uil B o H B B
g

(3) 161 Hie @) qer1 # &ffor SEuT & ufy
A FTHD 2ATER BT B |

@die @ HIT areld B o H g
(STe<) uRafda 81T &1

SR B HoHHbdl HIYT b Oeeron
fFfeRaa # | siar a1 wwafea =78 8?2
(1) M= a1 BT A STIRT

(2) U o) HAAT BT ATE HAT

(3) fer AT wer

(4) BT 3R AW T3l

frfefRaa & 9 @R saren 4 I OR®
faer @ e gaw o afg ¥ e 22
(1) fren=ra=en (2) dreaTael

(3) reraraer (4) YorTaer
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90. Cattell’s Culture Free Test of intelligence is
a type of -
(1) Individual Verbal Test
(2) Group Verbal Test
(3) Non-Verbal Test
(4) Verbal and non-verbal Test both

91. Which of the following provision is most
suitable for slow learners?

(2) Acceleration

(4) Remedial
teaching

(1) Enrichment
(3) Competitions

92. Which of the following statement is correct
about the development of a child as an
individual?

(1) Development is product of hereditary.
(2) Development follows a random pattern.
(3) Development is a cumulative process.

(4) Different aspects of development are
isolated.

93. Educational
psychology for a teacher is -
(1) Understanding the children or students

Implication of educational

(2) Apply the rules of science in class
(3) Solve the school problems effectively

(4) Correct  his/her . Own misconception
about the universe

94. In a class, students work together in groups
on a project, it is an example of -
(1) Instructional approach
(2) Behavioural approach
(3) Social constructivist approach

(4) Information — processing approach

90. Heel B HEpfa Haa g gfE &1 s
UHT BT TAETT & —
(1) FfFara wnfeger gteror
(2) arfes wnfesad uRieror
(3) arerifegs TeroT
(4) wnfeqer 3R srenfead <) udieror

91, it 7 & Waw 9t 9radl @ o
frafafed § 9 @99 urgue aits

I 8?
(1) Haels (2) @RoT (nfa gef=)
(3) wferanfirand (4) STARTETD fRreqor

92. FAfalRad # & B9 $UF TP araid &I
Uh Afdd & w9 A Qe @ ar § w8 87
(1) e smgarfeast & aRem 2 | '
(2) e v Ao urey grRr gar 2|
(3) fasr e waAl ufrar 2 |
(4) fapre & fafra wer g 2|

93. Ud 3EATTS & forv fem gaifasn= &1 e
ffeanef & —
(1) gttt / fenfat &1 gas
(2) s & i 1 et 3 3 HEAT
(3) femera & Rl &1 gl 999 9
AT Bl

@) fIeg & ar & wd 1 Tera wwRa B
FHRAT

94. TP hefT A femedi GHEl # ue urieEr w
fAear &1 FXd €, U8 U IeENT 8-
(1) IITSHD SUNTH Bl
(2) FTERUD IUNRTH BT
3) wmrfors Affaard) surm &
(4) I — YT SUTTH &l
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95. Rohan is reading the latest comic book of

Bahubali because he cannot wait to see what
happens to Bahubali and his family. This is

best example of -

(1) Intrinsic motivation only

(2) Extrinsic motivation only

(3) Both intrinsic and cxlri'nsic motivation

(4) Neither intrinsic nor extrinsic motivation

96. According to Triarchic Theory of
Intelligence, intelligence comes in analytic,
creative and practical forms. This theory of
intelligence is developed by —

(1) Howard Gardner (2) Robert J. Sternberg
(3) L. L. Thurstone  (4) E. L. Thorndike

97. Which of the following statement is not
related to the nature of educational
psychology?

(1) Educational psychology is a behavioural
science.
(2) It is a social seience.
(3) It is a positive science.
(4) It is a normative science.
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98. Maich the column I (School of psychology) 98. ®fet—1 (WIS & Whal) R Bied — 11
and column II (name of psychologists). (FHIfasel @ M) BT gRferd B |
Column 1 Column I1 Biaq — 1 #fem — [
(i)  Psychoanalysis (A) C.L.Hull (i)  wAfageyor (A) . ve Bd
(i)  Behaviourism  (B) Lev Vygotsky (i) wIERArg (B) i@ fammewh
(1i)  Gestalt (C) Sigmund (iii) T (C) fyovs wias
Freud (3erar)
(iv) Constructivism (D) Max (iv) Afifaarg (D) AR gER
bt M G)-B (i)-C (ii)- A& (iv)-D-
(H()-B (1)-C (ii)-Aand (iv)-D @) ()-D (ii)-C (i) - B3R (iv)- A
(2)(i)-D  (ii)-C  (iii)- B and (iv) - A (B3)(i)-C (ii)-A (iii)-D3MR(iv)-B
3)(1)-C (i)-A (iii)-Dand (iv)-B @ ()-C (ii)-D (iii) - B3R (iv)- A
#)(1)-C (ii)-D  (iii) - Band (iv) - A
99. Positive facilitation of present learning 99. fara srfermr g adwe siferms &1 gD
through past learning, for example addition TRCTHRY] (GATe), JSTEROT & AR U= AT
helps multiplication. This type of transfer of N TN ¥ WEIAT HRAT| §H UBR B
learning is called - SfETH WRITATRY HEATAT & —
(1) Conditional transfer (1) SaeTcHD IATAROT (3R
(2) Sequential transfer (2) TR TRITATTROT
(3) Bilateral transfer (3) fgurRde wermror
(4) Vertical transfer (4) FHEafER IR
100. Which of the following is not a suitable way 100. @i@®i & oMH-ywd e @ forg
to develop self-concept of children? frafoRaa # | @9 @ier IuYd &I
(1) Advise to avoid to face problems 87
(2) Giving freedom to child to make decision () wawell § 9o & forg dems <
(3) Establish clear guidelines for behaviour @) @t @1 fofa & 6 wadser <
(4) Communicate unconditional acceptance Gy@mer & fory we Welie o wfia
and love BT
(@) faer ord & W fardar iR 0w @ wRifda
HAT
------------------ XXAKK womsnmmmmmmascnson XXHKXmsommmmsmomsmmmsme XXHKX wseeeesminsensnns
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